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Ex. Skeich
x’-__yl_' 21"“" + 2y +§! 8-‘9
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Ex. Find the saddle peini

of the surface
Ux* -2 44w -22 4+ 4y =y

‘1(:(4:]2- ('-zulz + ¥Y
gq-f""' = 7

5 1
qy 3 (Z+#1) ~ Hlxn) +7
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Exs A force is given by

-~ - - b
6 vecdor Fr 3ituj+5k
ond moves a parhde from

the poini P(2,01 0] 1o

B (4,6,2) . Find the work dent,

173 5 <2, 5 z> W: F."B

W= {3u.5)<{252)

2 6420 416 = 34
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Ex.f Find ‘U\! Jtalar pra‘,‘gc{-;g.
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Curves down in ¥,

Lurves vp

in X,

D




Ex 1, Find the p’ﬁa( thet
(ontaing
P23yl Qie,-1,4) R(4,1 89
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Pa = ('I‘ga ') ﬁ!: (;.-':'3)
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Nh‘f( {'AG* (112'3) '

) plaue .

5 (x-1) + 3(y-2) + 9(2-—9)
=0
or: S§X +3Y +M1 = 23



